Z+:(3000) Z MoK ] 2 (3B00)=2EXNRESMLH &:(3310) 24k el Itxl = D3t Mg (3311) M HXIAIAE 25t [AMSEFEED] (SR
ni; =
o o o & = 5] =
Z, 2 8 ME HIAE =
3000 o
AW N 26 925 953 [=2 12,477,468 = 8,395,985 D 0 & 5,980,500 = 72,000]
eﬁogoﬂggzstgw 26 925 953 [= 12,477,468 & 8,395,985 DI 0 = 5,980,500 = 72.000]
g?l:_?Mag JH% ® D3 26.925 953 [= 12,477,468 & 8,395,985 DI 0 & 5,980,500 & 72,000]
3311
A BET Al AE 245 8 029 758 [= 3,770,889 & 4,258,869 DI 0 = 0 = 0]
100
Z a0l &t 303,437
120
B4R AY| 303,437
201
2 et A Y| 233,101
233,101 |01 L2 F Y|
A2 ¥ HAEFA LBE AL = 33,101
MEUXNER = 200,000
202
ksl 47,336
47,336 |01 =LA YI
PEFA JI20YI = 42,336
MELXIHHFE = 5,000
203
2 =8| 10,000
10,000 |03 Al Z=&HRF=EH|
NESPNETESY - 5,000




Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t NI (B311) M EHXIAI ALY 25t [AtHEMD] (S EHR)

ni; =
Of &b o4 &t = | =
&, 28 ME, MAlE =
MEUXE =X = 5,000
301
Rl = 13,000
3,000 | 10 HAIAHIE A=
=NEOZHOI 2JAFIEH = 3,000
10,000 | 12 JIEt2 &=
AFSILOHAE E1 - A DK 24 = 10,000
200 B
210 B
201
2 EH2 A 10,000
10,000 |01 B+ HI
AHEUXIHM (M ES) = 10,000
[= 3,000 & 7,000 I 0 = 0 = 0]
308
AR ESHMSO0IA 4,288,573
4,288,573 |01 AXHMBAELZ
ASYUXIUE(9T) = 2,409,100
= 1,417,111 & 991,989 DI 0 = 0o = 0]
Ar3I H 2 Xtel (232) = 1,879,473
[= 1,665,355 &= 214,118 DI 0 = 0o = 0]




% :(3000) 2 RIH bl 2 (300)ZENVBENLH  B:(3310) 2RO Xl & Dt Mg (3311)AHS L TIAIAE 25 [MEFDY] (S H
ni; =
Of &b o &t = | =
2,8 N, HAIE =
403
XEXIEHRIRHE 01 & 989,548
989,548 |01 RtXISHAIXHE B &
AP YT F A (8F) = 627,810
[2 369,300 & 258,510 DI 0 2 0 = 0]
AHEF OFX| 22| (35) = 361,738
[2 302,623 & 59,115 DI = 0 = 0]
405
Xtz S| 45,000
45,000 |01 AHAYSEF SH
AP IS X2 (10H) - 45,000
[= 13,500 & 31,500 DI = 0 = 0]
220
XA AFS 2,393,200
308
XX RIS 01 & 2,322,000
2,322,000 |01 RXISHBABED
AP0l B XH(5TH) = 900,000
RHAHCHR S0l 22 S X2 (324HA) = 388,800
cled MASHEHSKRA(2,210F) = 265,200
F|OHX| AZ2HAIRIBHXI (6702 ) = 768,000
403
REXIEHRIRHE 01 & 67,200
67,200 |01 KtXISHHI Xt =2 =




H:(3000)ZHONLE  2(300)BERNABENLY  8:(3310) /L Jbxl # D3k NIgH: (3311) AT AIAY 23 S (B9 HE)
i =
O &b oA &t £ Dl e
=28 N AN <
MSHYNSSHE YSIIII(180H) = 67,200
405
RHaHz S| 4,000
4,000 |01 XA SEZF S|
MBS IEHS 23I1(10) = 4,000
3312
A2l AIE) . BIEHO|S =R 8.734.043 [2 7,617,940 & 1,044,103 DI 0 2 0 = 72,000]
200 .
! Ol A 8.734.043 [2 7,617,940 & 1,044,103 Ol 0 @ 0 = 72,000]
210 -
e 8.614.043 [Z 7,617,940 & 996,103 I 0 @ 0 = 0]
202
o1l 23,040
23,040 |01 ZLH04H]
WEIAEZA L 25ES = 23,040
(2 23,040 & el i 0 = 0]
206
WEL 1,266,614
1,266,614 00 M=l
AU S YR 2RI T (17,620ha) = 1,266,614
[2 1,266,614 & el i 0 = 0]
307
RIHOI N 369,909
369,909 |02 LIt H AT X
4SS TCHIIEI I = 50,000




Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t Mg (3312) &t ME - 82015 B8 [AtHEMD] (S H@
i =
O &b oA &t = Il e
o2 8L ME AAE =
[= 25,000 &= 25,000 7| 0 = 0 = 0]
S24E ArHHH S H(2,500ha) = 319,909
[= 253,351 & 66,558 DI 0 0o = 0]
308
KX H S0l A 3,868,442
3,868,442 |01 MHXEHHMIAEXS
el =1tel(17,620ha) = 2,757,346
[2 2,392,660 = 364,686 I 0 = 0 = 0]
ALRTHESE(3,0100a) = 765,466
[= 678,507 & 86,959 JI 0 = 0 = 0]
LotEN S = 284,113
[= 205,729 & 78,384 DI 0 = 0 = 0]
SYALUREE(10ha) = 61,517
[= 47,320 & 14,197 DI 0 = 0 = 0]
401
ANEHIZL 208 22,638
22,338 |01 Al&H]
HEHtEE EXNAEX = 22,338
[= 11,019 & 11,319 DI 0 = 0 = 0]
300 |03 AIE 2 0HHI
HEHtEsd EXNALX = 300
[= 300 = 0 Il 0 = 0 = 0]
403
INPNE=SDASS U FS 3,063,400




Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t NIgH:(3312) At MEH - B FDIs BT (MY (S
i =
Of &b o4 &t = Il =
&, 2, 8 e MAE =
3,063,400 |01 XHAISHAH2E X
WEf A SR = 3,063,400
(2 2,714,400 & 349,000 D 0o = 0 = 0]
ZIZF%M}CH 120 000 [= 0 & 48,000 DI 0 = 0 = 72,000]
403
XX EE A A2 01 ™ 120,000
120,000 |01 KEXISHMIAt=E £
25+ Zdl = 120,000
[= 0 & 48,000 DI 0 = 0o = 72,000]
:/))\?13?_?_@ . S0F EC 5 341 470 [= 625,336 & 1,178,134 DI 0 & 3,538,000 = 0]
3\?&0“” 5 341 470 [= 625,336 & 1,178,134 DI 0 & 3,538,000 = 0]
QOEMO“ 5 341 470 [= 625,336 & 1,178,134 DI 0 & 3,538,000 = 0]
202
O 1s]] 8,008
8,008 |01 =LHOIHI
=2 (S&2) A=A = 8,008
[= 5,606 T 2,402 DI 0 = 0 = 0]
308
AXIEHSOIA 525,783
525,783 |01 RMXEHILAEES
=Z DAL (469) = 525,783
[= 466,931 &= 58,852 DI 0 = 0 = 0]




Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t Mg (3313) &t 23t - 7 &L [AtHEMD] (S H@
i =
O &b oA &t = Il e
&, 2, 8 e MAE =
401
ANEBIZ=F08I 213,919
203,919 |01 Al 4]
BHEOH2 SAF=2 Y[ (7km) = 203,919
[= 101,959 &= 101,960 DI 0 = 0 = 0]
10,000 |03 Al& S OHHI
BHSECH2E SAF=2 - H[(7km) = 10,000
[= 5,000 & 5,000 JI 0 - 0o = 0]
403
bR M A= 0] & 4,593,760
4,593,760 |01 KtXIEHM A= 2=
BHS=CH2E SAF2FHI(3km) = 68,760
[= 45,840 « 22,920 DI 0 = 0 = 0]
NAS AT (6014) = 4,525,000
[= 0 & 987,000 I 0 = 3,538,000 = 0]
3314
At2lo] molj|s 243} 2 363250 [= 0 & 968,750 I 0 & 1,394,500 = 0]
3\?9’*01“* 2 363250 [= 0 & 968,750 I 0 & 1,394,500 & 0]
2(_);&/\}04 2 363 250 [= 0 & 968,750 I 0 & 1,394,500 & 0]
401
ANEBIZ=F08I 1,086,000
1,071,000 |01 Al&HI
OIcHE MBS Ed = 1,071,000

— 7 —



Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t HI&:(3314) a0 3eDls 23t [AtHEMD] (S EHR)

ot =
of  &F o &k £ Il =
B R ME KIS <
[= 0 &= 535,500 | 0 = 535500 = 0]
5,000 |02 22l
I[EEPEI=INESS - 5,000
[= 0 = 2,500 O 0 2 2,500 = 0]
10,000 03 Al&=CHHl
DIHZ MR EHK X = 10,000
2 0 = 5,000 DI 0 2 5,000 £ 0]
403
XEXI €A A2 01 & 1,277,250
1,277,250 01 KX SRR E
MENETH = 1,277,250
[= 0 = 425,750 Ol 0 @ 851,500 = 0]
pop U | 946,303 [= 168,072 & 730,231 O 0 & 1,048,000 = 0]
T . [= 168,072 & 730,231 O 0 & 1,048,000 = 0]
o el | 786.953 [= 168,072 & 570,881 O 0 & 1,048,000 = 0]
202
01| 10,000
10,000 01 240l
SAIE(IIZS) HEHEAM - 10,000
[= 5,000 & 5,000 DI 0 2 0 = 0]
308
XX £ S 01 & 160,453




Z:(3000) Z HIJHEH 2:(3300) R EXAEZHLHl & (3310) 224l JtXl 2105t NIE: (3B15)HB=R22t &5 [AtHEMD] (S EHR)

ot =
ol &b oH At = | =
R B B MIEE HIMIE =
160,453 |01 XX SHHZBAEXS
CAIZ(OI22) AEIEA = 52,500
= 35,000 & 17,500 2| 0 & 0 = 0]
C A= X 22| EH8H) = 88,339
[= 78,458 = 9,881 DI 0 & 0 = 0]
22230 (2Y) = 19,614
(= 19,614 < 0 DI 0o = 0 = 0]
403
XX SHH K20l 1,616,500
1,616,500 |01 KHXISHRIAI=2E X
CAlEXZL (2200 2) = 1,571,500
[=2 0 = 523,500 7| 0 = 1,048,000 = 0]
2 M EHA I A = 45,000
[=2 30,000 & 15,000 2| 0 & 0 = 0]
220
KHHI AL 159,350
401
AlAHI L2 10,000
10,000 |01 Al&H]
SABZTHERINE(FIBA) =
403
XX SH K20l 149,350
149,350 |01 XX SHHIA2E X
Stus X4(S48 1ia) =




Z+:(3000) Z MoK 2 (3300) 2 ENJFEENLH &:(3310)F R a2l Jtxl = D5t MI&t:(3315) 2t SR F ] (SR R)
ni; =
off Ao A e ES
&, 28 ME, MAlE =
a1z Itz AN 99,350
3316 - - o
100
a0l &t 18,000
120
& " A 18,000
201
2 etE gl 4,000
4,000 |02 HAH2AHI
NI53| & HIHES] = 4,000
301
Aertg a3z 14,000
14,000 | 10 HAIAHI 2SS
AL 23 = 3,000
NI53l & HIHAZS] = 6,000
SN OISES FA O3 = 5,000
200 -
QOEMG 443 129 [= 295,231 & 147,898 | s 0 = 0]
308
X ESHMS0lIA 34,500
34,500 |01 AXHMBLEELS
MEXE=EA = 34,500




Z:(3000) Z HIJHEH

JFXl =08} Mgt (3316) NI=Dtsst AP AD B 1= MY (SR AR
n) =
& - of A o A = 0| %
&b 2 &t NIEH MIAIEE =
(=2 34,500 & 0 Dl 0 0 = 0]
403
INPNI=P5 PAR=Y0IPS] 408,629
408,629 |01 KIXIEHHAIE2E X
Ab2l A A H 2l (28,657ha) = 218,984
[= 145,993 = 72,991 D 0 = 0o = 0]
UAESEH A} = 7,728
[= 7,728 = 0 7| 0 0o =2 0]
At X2l " 2 (1541) = 181,917
[= 107,010 = 74,907 D 0 0o =2 0]
220
KEHIAFS 50,000
207
Syl R=1gG 50,000
50,000 |03 A& A32H]
ZHASOSHFE AL AR T AL = 50,000




Z:(5000) K1 LIIEFZHl  2t:(5100) I XK &F & & (5110) XL TH & & Mg (5111) NI T & & AP (e HE
ot =
Of A+ oH &t £ Il =
&2 8 Mg MAE =
5000
K2 LIEFZHI 5,272,468
5100
Kl 2aH & 8 5,272,468
5110
K2 TH & &t 5,272,468
5111
N 5,272,468
300
=1 5,272,468
310
KIS of &t 5,272,468
311
A S 01k 274,868
274,868 |01 Al.SXIGIHE D =S AH=a2H0l A
(At & 2 D]
CREEUEHa LM = 274,868
601
L2 4,997,600
4,997,600 |01 Al. =X S I SEASL
(At & 2 D]
CREAUEHSXY
I o= = 4,997,600
£ A = A 32,198,421




